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Explain four benefits of good industrial numgsml:?ﬁ‘] o) ey (8 marks)

Outline four functions th Id nﬂmﬂ i.“ ﬂpnmhmg_ﬂaga of production
planning and control, wﬁﬁ?}’;—r Fw" (4 marks)

Explain four differences between production on order and production for stocking.

(8 marks)
Dhitline six shorlcomings on the part of management that may lead 1o excess work
conient in 4 faclory. (6 marks)
E.m-lamﬁm*fmmrslhrl i |t5rufrlnnmllppﬂmpm¢hmdhy
a munufacturer. ocE L (8 marks)

et E»’ﬂ'r SR AL Y
The cost of direot nustitials at Niiton Engineers Limited has-becoms too high. Explain

| dnﬂmthﬂlhﬂnmgemﬁntmyt&heLGmlmmthnmﬂ. {6 marks)
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Explain three personal fanm that affect consumer behaviour, -~ v ir'ih;JE‘{? nﬂ:rf-'?}ii'w yl®
*'- L e i
pd w0
mwummmmmmm Explain four such methods.””
(8 marks)
Ohitline six ways throogh which trade unions seek to achieve their objectives.
(6 marks)
Certain conditions should be met for the bonus system ufmmﬂmlmh:
successful, Explain five of these conditions, {10 marks)
Ourtline four features of a public Limited Company. {4 marks)
In relation o the Law of Contract, explain three wapsthronsirwitch-sooffermpy be
terminated. (4 marks)

Kaplan Electricals Limited finds it difficult to achieve n---r.. - .
ﬂmhmr“rﬁctnndiumlywmuntfnrlhmﬁﬂugm [#Inm'i:ﬂ}
= 1!“."!‘!:{ fll-j"pm-n
Explain four gdventages of a product plant layout. 'Iir““;'h:"‘]h “ {E murks)
¥

Explain anmmmm&mkmhymﬂpmdugmuﬂmdnwm
section 10 avoid stock build-up in & manufacturing plant. { )

Wark study officers find it difficult to measure the work of clerical office staff. Explain
four reasons that may sccount for such difficulty. (% marks)

Explain four limitations of using centralised inspection in an orgamization. (8 marks)

Outline four purposes of cost estimation. € m:ﬂw] i
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Explain five reasons that make it difficult ﬁ:rsmlll I:usme:saenlm;msﬁmgnbmk
loans. (10 marks)
Explain thmd&fenmamllublu o & person who is being sued for miisance.
Loro o) L & marks
§ ta ru .,F::J I: }
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Twnwmhnmangugadunnfmtgmh 2 20 cognecting rod per day dch

weighing 4 kgs. ’ﬂmwmhnmﬂrepmdulhemmwf 50 and Ksh. 30 per :
day. Material cost is Ksh. 20 per kg. 140% of direét Iabour i$ charged to compensate~ Hive™
for both factory overheads and administrative expenses, Calculate the per unit cost of

production of these rods. s }

Explain the advantages of having retailers in the distribation channel. (8 marks) £
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